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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
(- (I Wi 2l T i ¢

a) How many parts are there in a standard form

categorical proposition and what are they ?
ST SRR W I6CR A0 oI G 5 (52
b)  'Only children are honest' Give the logical form

of this sentence.
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c)  What is meant by proposition?

o+ FEICO F QIR 2

d) Why does a negative proposition distribute its

predicate term?
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What is the contrary of the proposition, 'All

Philosopher are reformers'?

T Mi{Tels T AT —3 54167 (oI FT 50
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Give an example of conversion of A proposition.

A I S A SHide Wie |

What is meant by 'figure' of a categorical

syllogism?

GG 0o IR FREIN 0o &6 (=2
What is a truth functional statement?

TSP el TEICS (IR 2

If 'pvq' is false, what is the truth value of
(p2q)e(~p=q)?

3t 'pvq’ 01 =, 1A (pog)e(~p=q)-aT
Soyer) 5 2

'Some non-S are P'- express this by Venn

diagram.

‘g e -S 2 P— b (SAbCas SIKIe &0 5 |
What is fallacy of Illicit Major?

S iy (7 e

What is the exclusive sense of "OR"?
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When a conjunction is true and when it is false?
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n)  What is an empty class?
Wy (X FICE AT 2
0) Show the symbolic form of the method of
Difference.
3o orafor A oF ARG @14 |
2. Answer any four questions: 5%x4=20
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b)
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What is immediate inference? Transform the
following sentence into logical forms and
convert them: 1+2+2

1) Few men are honest.

i1) Previous winners alone are eligible.
S SR & 2 et gfewfe gfetmt e
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What is conversion? Is the conversion of 'O’

proposition possible? 1+4

IS 52 'O I WS 7S 2
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Name the fallacies committed and rules violated

by the following syllogistic forms: 2% +2%

i) AEE-3

i) 1ALl

NS TRIFRLETS @ @R q0E 93 @E-IE
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i) AEE-3

ii) IAI-1

IfA, B, C are true and X, Y, Z are false statement,

determine the truth value of the following:
25421

I A, B, C 79 & @ X, Y, Z 21 <6+ 23, 90
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i) [AD(BVX)]-~Y

ii) [~(AvB).(Bo~X)]v~(C.2)

Use the truth-table technique to determine

whether the following statement forms are

tautology, self contradictory or contingent:
25422

i) (pe~a)2(pv~p)

ii) [p ) (qu)] ) [(p ) q).r]

AP AR [T st Heae e
793 ey, TN Al Sieifes Gt ¢

i)  (pe~q)2(pv~p)
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3. Answer any two questions:

i) [p>o(qvr)]>[(p>q)-r]
Distinguish between Deductive and Inductive

argument. 5

SRR @ AR G [ A1 I |
10x2=20
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a)

b)
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What is meant by the ‘mood’ of a syllogism?
Test the validity of the following syllogisms by
means of Venn-diagrams: 2+4+4
1)  Truthful alone are honest and truthful are

worthy of respect, so all men worthy of

respect are honest.
i1) Bats must be birds, because they have
wings like birds .
e TR Sl (Rl [k 6 ¢
i) (FETG AORAMAE A FORAMANR. AN,
SRR FRARI WTE=E 7 |
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When an argument form is invalid? Use truth-
table method to test the validity or invalidity of
the following arguments (any two): 2+4+4

935 Ieq SFIT T Y T 2 AOARA AR
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e Yfewlr el 11 sitags! [ok @ (@-
I 7fo)e
i) (AvB)D(A.~B),~AvB/..~(A.B)

ii) (poq)v~p,pvq/..p.q
i) If I study, I make good grades. If 1 do not
study, I enjoy myself. Therefore, I make

good grades or I enjoy myself.

i I sgiwel 4, O3 S ©iteT w1 F |
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What is existential import? Do Universal

proposition have existential import, according

to Boole? Explain. 2+8
SfEeas wledd 52 qee1a Wo ARF B
SRS SieoR BE % 2 /< |

What is analogical argument? Discuss the

criteria for the appraisal of analogical

arguments. 2+8
OR

Critically discuss Mill’s method of Agreement.
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